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oo
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2. PLL Feedback Amp. : Free/Lock D000 000000LockD0 000 SGOOOOOODO cavity O
0000000 O00ooo0ooooooooooooooooobpBMOOOOCOoOoooooon

_ df
f— f0+AVW

oooogooopoofosGOOOoOOOOOfMD cavityOOODOOODOVO DBMODOOOOOOOO

3.computer : O ODODOO0O0OOOOODOOO pCYROL-VXOOOOOODODOODODOODODOOOODO
0000000000 (AD128J(98))0 00000000 0OBASICOOOOOODOUOOOOOOD
gobogoboogobooobgoobooboo

244 000000 BASICOOOODO

0000000000000000D0000000O0(f/v=6fdz)?’000000000000000
(220step 00000000000 DOOOOOOODOOO)D0O0ODOODOOODOOOO
10 DEFINT I
20 DIM TY(10000)
30 INPUT ‘extension number [from-to] 7', NUM1, NUM?2
40 INPUT ‘Choose the drive to read(A: or B:)’;DR §
45 INPUT ‘Choose the drive to write (A: or B:)’DR1 §
50 INPUT ‘Input the filename of your data.”;FL $
60 IF NUM2=0 THEN NUM2=NUM1
70 FOR NUM=NUM1 TO NUM2
80 N§ =STR$ (NUM):N$ =RIGHTS (‘000’+RIGHT$ (N$ ,LEN(N§ )-1),3)
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90 INAMS$ = DR$ +FL$ + . +N$

100 ONAMS =DR1$ +’a2’+N$ +’ . DAT’ : PRINT INAM § ;" —> ONAMS$
110 OPEN ONAM$ FOR OUTPUT AS # 1

120 TAD=VARPTR(IY(0),1)

130 IBASE=VARPTR(IY(0),1)

140 DEF SEG=IBASE

150 BLOAD INAMS ,TAD

160 PRINT TY(0)

170 FOR I=0 TO TY(0)

180 PRINT TY(I);

190 WRITE # 1, TY(D);

200 NEXT 1

210 CLOSE:PRINT

220 NEXT

230 "***+% THE ANALYSIS OF THE DATA *##%*

240 HORIO=TY(2):HORI=HORI0:X=0

250 INPUT ‘Which came first 1)bead or 2)stapler?’;ORD

260 PRINT ‘Now, let me integrate the data. Are you OK?’

270 GOSUB 380

280 GOSUB 460

290 FOR I=L1 TO L2

300 DF=(IY(I)-HORIO)*UF:IF DF<0 THEN FF=SQR((-1)*DF) ELSE FF=0
310 X=X+FF*DL

320 NEXT I.X=X*X

330 PRINT ‘The length of one unit is 4, DL;’(m)’

340 PRINT ‘The frequency per one unit is ;UF;’(Hz)’

350 PRINT “The region you integrated is “;L1;-";L.2

360 PRINT “The result of the integration is ;X

370 END

380 "***** THE CALCULATION OF THE FREQUENCY PER ONE UNIT ****
390 INPUT ‘Input the frequency you dropped(Hz)’;UF

400 [=2:1SC=0

410 TF ISC=0 AND IY(1)4+300<HORI THEN LS=L:ISC+1

420 TF ISC=1 AND IY(1)-300>IY(LS) THEN LE=I-1:I=I+10:GOTO 440
430 I=14+1:GOTO 410

440 XF=0:FOR I=LS TO LE:XF=XF+4IY(I):NEXT:XF=XF-(LE-LS+1)
450 UF=UF/(HORI-XF):HORI=IY(I):RETURN

460 7+ THE CALCULATION OF THE LENGTH PER UNIT **#%*
470 INPUT ’Input the distance between the bead and the seed of the stapler(m)’;DL
480 DIM EDGE(2), BOT(2), ENDE(2):FOR J=1 TO 2:GOSUB 520:NEXT
490 DL=DL/(BOT(2)-BOT(1))

500 IF ORD=1 THEN L1=EDGE(1):L2=ENDE(1) ELSE L1=EDGE(2):L2=ENDE(2)
510 RETURN
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520 ISC=0:REC=IY(I):REX=I

530 I=I+1

540 IF ISC<>0 OR IY(I)>HORI THEN 570

550 PM1=1:FOR K=11 TO 20:IF IY(I+K)=150>=HORI THEN PM1=0:K=20
560 NEXT:IF PMI=1 THEN EDGE(J)=LISC=1

570 IF 1ISC<>1 THEN 530

580 IF IY(I)<REC THEN REC=IY(I):REX=I

590 IF IY(I)=50<1Y(I+20) THEN 620

600 PM1=1:FOR K=1 TO 20:IF IY(I+K)=50<IY(I) THEN PM1=0:K=20
610 NEXT:IF PM1=1 THEN BOT(J)=REX:ENDE(J)=L:1=I+10:HORI=IY(I):RETURN
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iron, whose permeability is extremely high
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title
Magnet in Uji
poisson
mode -1
ymax 50.0
xmax 7.0
xmesh 0.5
ymesh 0.5
pxtop 3.5
pxbot 3.5
pytop 50
pybot 0.0
ltop 51
Ibot 1

cartesian

nseg 4
rseg 0.00 50.00 50.00 0.00
zseg 0.00 0.00 7.00 7.00

nseg 8

rseg 0.00 22.00 22.00 2.50 2.50 22.00 22.00 0.00
zseg 0.00 0.00 1.00 1.00 6.00 6.00 7.00 7.00
matpro 2

fixgama 0.000125

nseg 4

rseg 2.50 3.00 3.00 2.50
zseg 1.50 1.50 5.50 5.50
matpro 1

current 100
begin
end
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yo o 4 5 6 7 8 9 10 11 12 13 14
00 (yOO) 0.014 0.008 0.005 0.003 0.002 0.001 0.000 0.000 0.000 0.000 0.000
OO0 (z00) || 26.695 | 25.548 | 25.164 | 25.036 | 24.985 | 24.957 | 24.937 | 24.919 | 24.904 | 24.890 | 24.876

yo o 15 16 17 18 19 20 21 22 23 24 25
00 (yOO) 0.000 0.000 0.000 0.000 0.000 0.000 0.003 0.009 0.003 | -0.001 | -0.001
OO0 (200) || 24.864 | 24.850 | 24.828 | 24.776 | 24.619 | 24.117 | 22.647 | 19.360 | 14.617 | 10.079 | 6.645

yo o 26 27 28 29 30 31 32 33 34 35 Horx
OO0 (yOoo) || -0.001 | 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 Horx
OO0 (z00) 4.299 2.760 1.766 1.129 0.721 0.461 0.294 0.188 0.120 0.077 Horx

The magnetic field[Gauss]
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Y coordinate[cm]

Figure 4.8: 1A0000O0O0OQCO0OOCODO 200
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Figure 4.9: POISSONO OO0 OOOOOODOOOOOOO

(x axis)=electric current[A]

, (y axis)=electric field[Gauss]
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Figure 4.10: OO0 O0O0OQCOOOO
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4.2.7 0O0O0OOOOO

Oo0O0OOoOO000oOO0o0U0O0oDoDo00gooDoO00oUoODoOoooooOd faraday cupO 0o
googooooobobooboobooboobooo

00000 [A] 0.5 0.6 0.7 0.8 0.9 1.0 11
0000000 [keV] 3.1 4.4 6.0 7.8 9.9 | 12.2 | 14.7
00000 [A] 1.2 1.3 14 1.5 1.6 1.7 1.8
0000000 [keV] || 17.5 | 205 | 23.7 | 27.1 | 30.7 | 345 | 38.6
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the energy of the electron [KeV]
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Figure 4.11: 0 0000000 OQCO0OOOCOOODOO

000D fitting 00000 EfkeV]O [ [A] 000000000000 O00O00O0O00O00O000O
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000000000 y=ax?+be+c0000000000000000006y =az?+bx;+c—y00
0000000000000000
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A= a® E X;l +b? E x? 4+ nc? 4 2ab E x5 + 2ac E Xi2 —2a E X?yi + 2bc E x; —2b E X;y; — 2¢ E vi  (4.42)
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A i 3 n 9 n n
=5 = 2(a(Z: ) +b(Z: xi)—l—c(Z x;) - inyi) =0 (4.44)
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n n

‘Z—f =2(a(d_xf)+b(

i=1 i=1

n
xi)—l—cn—Zyi) =0 (4.45)
i=1
godoboooooooboooooboboobobobooooao
E = 11.22971% + 1.57165] — 0.576401 (4.46)
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Chapter 5

HRERERE

5.1 0OO0O0OO

gobooobooobooboobboobooobooboooboobobboobooboobobooo
gboooooooboooboboobboooboboboboboboboboboboboooooooo
gbboobooboobobobobobooooooboobooooboboboobobobobobobooo
gbooooooooboooboboboobobbboooboboboboboboboboboboooooog

ggo

| 100 200 300 400 500 600 700

00000 (MHz) 144.0434 | 144.0425 | 144.0386 | 144.0473 | 144.0410 | 144.0395 | 144.0400
0o0O0O0 (mV) 3.0 8.8 8.8 8.6 75 8.4 8.0
0o0O0O0 (mV) 8.8 24.0 23.0 24.5 22.0 24.0 225
00000000 (A) 3.0 3.5 3.7 4.0 4.2 3.3 4.4
0000000 (A) 0.24 0.28 0.26 0.26 0.28 0.27 0.26
0000000000 (A) 1.40 1.35 1.36 1.33 1.30 1.42 1.24
00000000 (A) 325 31.7 325 31.0 30.7 32.8 28.9
00000 (0D0O0)(mV) 55 210 420 2500 5000 62.0 17000

Table 5.1: OO0 0000 OOO0OOOOOOOCOO

gooooobooboboobobooboboobobooooboobobobooboboOon

gooboobogoobooobooboobobobooboobobooboobooboooooo

000000000000000000 [A]00000000000000 [mv]0000000000
00000000000O000 POISSONOOODOOOOD 1[A]000000000000000000
000000000000000000000000000000000000000000000000
0000000000000 000000000000000000000 0000000000000
000000000000000000000000000000000000000000000000
0(00D000)x(leV)00000000000000000

47




55

45

35

25

The 1st measurement

"RSexpl dat’ o—

450

400

250

200

150
1,
5000
4500
4000
3500
3000
2500
2000
1500

1000

17000
16000
15000
14000
13000
12000
11000
10000

9000
1.

1

25

.
13
The 3rd measurement

135

1.4

1.45

T T T T T T
"RSexp3.dat" +—
. . . . . . . . .
.18 12 122 124 126 128 13 132 134 1.36 1.38
The 5th measurement
T T
"RSexp5.dat"
. . . . .
.18 12 122 124 126 128 13
The 7th measurement
T T
xp7.dat' ——

2

121

122

1.23

124

48

220
200
180
160
140
120
100

80

60

40

20

2600
2400
2200
2000
1800
1600
1400
1200
1000
800
600
400
1,

70
60
50
40
30
20

10

N

The 2nd measurement

T T T T
"RSexp2.dat"
. . . . . . . .
18 12 122 124 126 128 13 132 134 136
The 4th measurement
T T T T
"RSexp4.dat"
. . . . . . .
.18 12 122 124 1.26 128 13 132 134
The 6th measurement
T T
"RSexp6.dat" <—
. . . . .
15 12 125 13 135 14 145



5.2 0OOOOOOOO
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Ci 16mm
?

The point at which we measured the
magnetic field by Gauss-meter

Length
220mm

A
\ 4

width:460mm

Figure 5.1: OO0 0O00O0OOOODOOCOO

goobooboboooobbooobobobobooooobooboob by = 204em0ggono0Od
POISSONO D UUU0ODOOUOOUODODO 1[A]O000000 23.741[Gauss] 0D O00O00OOOO
gboboobooboobooocoboobooooooboooboan

B[Gauss] = I[A] x 23.741[Gauss/A] (5.1)

00000000000000000000000000000000000000000000000EF
000000 [keV]OI OO0 [A]OOO

E =11.22971% + 1571951 — 0.576401 (5.2)

00000000000000000D0000000000000000D000000
0000000000000 D000000000000000000000000000000000
cavity 000D 0D000O0ODOD Beadpul 00000 00000000000 OODOOOODODODOO
ooo
Z = 1.820 x 10°Q

ooooboooogoooooooooboooooobboooo vooooooo pPOODOO

VZ
:?

Z
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”1DD|2DD|3DD|4DD|5DD|6DD|7DD|

00000000 [Gauss] 325 31.7 325 31.0 30.7 32.8 32.9
O00o0oo0 [A] 1.37 1.33 1.37 1.31 1.29 1.38 1.22
0000000 [keV] 22.61 | 21.54 | 22.61 | 20.62 | 20.23 | 23.03 | 17.98

Table 5.2: 000000000 OO0OOODOCOOO

gbooooooboooboooooooooooboooooooooboboooboooboooubooobo
gogoooooobobooboobuooboobooobon

V=vZP

goono
OO000O00ooOoOoOO0DooOO0O0gOb0 cavityOODODOOOOOOOOODDOOOOOOOOO

gogno

e stepl:0 000000 D0OODO OODOOOAttenuator OO O Directional Coupler 0 OO DO OO
o0o0ooo0oooooooo (o AMW|OOO)0OUOOO0OOO0ODDOD0O0OD0OD0O0O0O0oOO0OUOO
000000000 o0ooooooooooooooonn calibration0O0O0O0O0OO0OOOOOO
00000000000 VimV]OOO

Py = —2.27622 x 107°V? 4 0.0187445 x V 4 0.00100635

000000000000000000000000000000000000000000000
000000 A[mW]OOO00O

e step2:cavity 00000000 OO00O0ODOOOOODOOOOOOOODOOODOOOOOOOOO
O00O0Ocavity OO ODOOOOODO OO0DOOO Directional Coupler O O O Attenuator 00 OO
DDDDDDDDDcavityDDDDDDDDDDDDDDDDDDDDDAttenuatorDDDD%D
0000000000000 0oo000ooo0o0ooO 10dBmO0000 OO0 ODirectional
Coupler O coupling 000 —-28dBm 000000000000 0OLow Pass Fiter OO OO0 OO0
0000000000000 000 28410=38dBmO 00000000000 0OOO OecavityO' OO
00000 PmW]OOOOOOOO

P=10"38%xp
000000000 POOODOOOOP=103%xPPO0000

googobooboobboboobooboboobooboobobobobobobo

0000000000000000000000000000000d«kV]OOODODOOO0OOOOO
000000000000000 «keV]000D00000000000000000000O0000OO0OO
0000000000000000000 1keV]OOODODO0O0OO0DO0DO0O0O0O0DO000O0ODOO0OO0OOOOOOO
gooooooobboooooobooboooboboon

00od0ooo0oo0oooooooooooooooDooooooDooDOoooDoooDooDOoooOon
000000000000 0000 Attennator 0000000000000 OD0OOOOOUD (OO
O0000)000 Net Work Analyser 000 Attennator 00 0000000000000
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| 100|200 |300 [400 |500 600 [700 |

0000 [mV] 3.0 8.8 8.8 8.6 75 8.4 8.0
00000000 [mW] || 0057 | 0.164 | 0.164 | 0.160 | 0.140 | 0.157 | 0.150
cavity 0000000 [W] || 0.359 | 1.0347 | 1.0347 | 1009.5 | 0.8833 | 0.9906 | 0.9464
0000000 [kV] 0.828 | 1.407 | 1.407 | 1.390 | 1.300 | 1.377 | 1.346

Table 53: 000000000000 (Attenuator 000000 DOO0O)

e J0O0O0ODOO 4dBmIDOOOOOODOOOODODO
gboobboobooboobooooboobbooboon
e JI0OODODOOODOODOOO 28434=62dBm OO0

gogooogobobooboobgoobgoobgoobooooboobooboobooboooDo

||1DD |2DD |3DD |4DD |5DD |6DD |7DD |

O0000000000oDoOO (W) || 90.34 | 259.92 | 259.92 | 253.58 | 221.89 | 248.82 | 237.73
goooooooooooo kv) 13.15 | 22.30 22.30 22.02 20.60 21.82 21.32

Table 5.4: Attenuator 0 00000000 0O0O0OOOO

O0D00O0DAttenvator 0000000000 COOOOOOOOOODDOOODOOOOOOOOO
00000000000000000000000000000000000 20W]000000000
goooobbooobooooobuoooooboobobooboooon

5.3 Beam Loading 00 00O
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cavity beam loading

Figure 5.2: cavity 00000000000 OO0O

ooooa [A] 55x 1075 |21 x 107* [ 42x107% | 25 x 1073 | 5.0 x 1073 | 6.2 x 1075 | 1.7 x 1072

0000000 [keV] 22.61 21.54 22.61 20.62 20.23 23.03 17.98
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oooooooooDooOoDbOoboDooooDOooD Attennator OO0 OODOOO0ODOOOOODOOOO
goooobooogo
O0034dBm 00000 COOCO0OOOOOO0OOOOOOOO00000000OOODODOOOO ODirec-
tional Coupler 0000000 OCO0O0OOOO0OOOCOO0O0ODOOO0DMODODOOOODOOODOOODOODO
dBmO00C0000D0COCO0OO00ODOOO0O0OODOOO0O0OOODOOO0O0OODODOOODOOODOOOOD
O000000o00o0oooooOoOn Attenuator U0 00000000000 OCODOOODOODOODOS4
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52



OO0 vOoOoOoOooooooDooDoooov10°3=14015000000000000000000

goobooobobooooooooboboobobooobboboobobbooboooobobbon
gbooogboobobogoobobobobobobboooooooobobobobbboobobobooo
gogoobooooobooboobooooobooboboo 2b00bO00DO

O O O Directional Coupler 0 Low Pass Filter 0 Net Work Analysing0 000 0000000000
000000000 oooooooooo0o000O00o0oooooooooooO00OooDooooon
000000000000 0000O0Low Pass Fiter 0000000 dBmOO0O0O0O0O0O0OO0O0OO0OO
00000000000 ooo00oooooooooo0oooooogoooooooooo0g dBm
000000 0o0ooo0ooo0DOoO000o00oooooooooooo0ooo0oooOOoooooooon
O00oooooo0ooooo00ooooooooooooooooooooooooooooDoooOog
00000 000oooooooooooOoO00O0O0O0000oooooOoOoooDooooOooODooOOooOoOn
0000000000000 oooooooooooooooooooooooooooon

53



Chapter 6
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